Chapter 5.1 Notes
Polynomial Functions
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1. Form a polynomial whose zeros and degree are given.

* whatever the degree is, make that many sets
of (). Her ours was 3, so () () ().
L @ * Then place an x in each set of ().
\_29( 2 ) * Then take the zeros, and write down the
opposite in each set of ().
* Now take 2 of the sets of () and multiply
e &- Y oy, -4 them together.
- * Then combine like terms.
* Now multiply that by the third set of ().
* Combine any like terms if able
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2. Form a polynomial whose zeros and degree are given.
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* whatever the degree is, make that many sets
of (). Her ours was 3, so () () ().
* Then place an x in each set of ().
(. ﬁ/ * Then take the zeros, and write down the
/XJ"L&B LX %@) opposite in each set of ().
\/)_/] * Now take 2 of the sets of () and multiply
them together.
* Then combine like terms.
/Xag - Q"Y« {,th,-l-g * Now multiply that by the third set of ().

* Combine any like terms if able
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3. Form a polynomial whose zeros and degree are given.
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* whatever the degree is, make that many sets
L"L@Q 3 of (). Her ours was 3, so () () ().
w * Then place an x in each set of ().

2 * Then take the zeros, and write down the
Lyx*- A% — A% —\'(-\3 opposite in each set of (). Since one of the

numbers has a multiplicity of 2, you will write

a that number down twice.
L ‘%3 L XL - L‘\ x "’LD * Now take 2 of the sets of () and multiply
~ 1 A them together.
* Then combine like terms.

'X3’ -u ‘X—Q NIV _2%9 + 59% >y, * Now multiply that by the third set of ().

* Combine any like terms if able
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4. Form a polynomial whose zeros and degree are given.
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l - * whatever the degree is, make that many sets
L'X*’S )L(X*Q}Q\[“'*BCX 5) of (). Her ours was 3, so () () ().
* Then place an x in each set of ().
(\ C @ c)) * Then take the zeros, and write down the
Q % 6) ) 4‘0(2\) R Wk opposite in each set of (). Since one of the

9 9 numbers has a multiplicity of 2, you will write
I H X =S -4+ that number down twice.
R 9_(_)(' i ?_,)E 0 2% T O * Now take 2 of the sets of () and multiply
them together.
* Then combine like terms.
@9 F1Y H@ &,&g -Qq Fa0) * Now multiply that by the third set of ().
-2 _& -7 * Combine any like terms if able.
= - - * Then multiply that by the 4th set of ().
* Then combine any like terms.
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